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1. Which of the following s @ unit free

quantity.

(A) Range

{B) Standard deviation
ACY Coefficient of varia‘ion
(DY Arnthmetic mean

P, Probable  error of correlation

coefficient is-

(A) 0.64751°"

N
(B) 0.6?45-1%5-

(C) 0.65471°F

k!

(D) None of these

3. If x, X, X........Xx are the

observations of a given data. Then

the mean of the observations will

be

JA) Sum of observations/total
number of observations

(B) Total number of observations/
sum of observations

(C) Both

(D) None

3041\C\2024-25

The mean éﬁig,bbservations is 75.
If two obser;.r:;ltion are discarded,
then the mean of the remaining
observation is 65. What is the mean
of the discarded observations.
(A) 250
(B) 125
(C) 120
(D) Can't be determined - due to
inefficient data

If the mean of observations x, x+3,
X+5, x+7 and x+10 is 11, then the
mean of last t.hree observation is-
(A) 122
(8) 123
(©) 143
(D) 13%

For a distribution the mean, median,
mode and standard deviation are 25,
24, 26 & S respectively. Then Karl
Pearson's coefficient of skewness is
equals to-

(A) ~0.20

(B) 0.20
AC) 1

(D) -1

P.T.0.
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@ i the gistribution s negatively

11. If the mean of frequency distribution
Skewed, then the-

i$ 6.5 & Zfixi=1204 2K, $A=20 then
4R) Mean is more than mode

X Is equal to-
(B) Median is at right to the mode (A) 10
(C) Mean i eSS than the mode (B) 15
(D) Mean ig at nQht to the median C) 5
3. The scatter M 2 series of valyes (D) 25
3bout the average i @lled __ 12 An important step of statistical
~AA) Centra Tendency investigation is-
(B) Dispersion 4A) Collection of data
© Symmetry (B) Local correspondent
(D) None of these (C) Enumerator
9. The measure of dispersion can never (D) None of the above
be- 13. Stub and caption stands for:
(A} Positive (A) The numerical information
(B) Zero (B) The table heading
AC) Negative (C) The row and column heading «
(D) Equalto 2 AD) The title of the table
10. The Systematic afmangement of the @;1 Cumulative frequency table s
statistical data in columns Of rOwWS is required to find out which of the
called- following-
(A) Nature of the data (A) Mean
AB) Tabulation of the data AB) Median -
(C) Classification of the data (C) Mode
(D) Categorisation of data (D) None of the above
30411C\2024-25
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15, Merit of a good Questionnaire is:
{R) Proper sequence
(B) Proper place
(C) Questions short and clear
(D) All of the above

{I:F; In a histogram, the height

bars represents:

{A) The frequency of each class

£B) The class interval or range .

£{C) The cumulative frequency
(D) The mode of the data.

17.

ungrouped data: 10, 17, 14,12, 82

(A) 8
(B) 12
HC) 14

(D) 17

J041\C\2024-25

of the

What is the median of the following

18. For OT0UPed data, the median IS

Calculateg using the formuyla:
(A) Hedian =L +‘ NIZ}C F;)Ih
an=_. [

(B} Median - L+CF
AC) Median = C-F-_;_'!{%
(D) Median = ::t

19. The deciles of a set

of data are the

values that divides the data into how

many equal parts?

“A) 2
(8) 100
(€) 4

(D) 10

20. In the case

of a symmetric
distribution, which of the following
measures of central tendency will be
equal?
{A) Mean, median and mode

(B) Mean and median only

(C)} Median and mode only

(D) Mode and mean only
15]

PO,
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In a grouped data distribution, which
of the following 1s true for computing
the median?

{A) Median is always the value
corresponding to the highest
frequency class

(B) The class containing the median
s determmed by the cumulative
frequency -~

{C) The ciass with the iargest range

g, used to find the median

0

The medan can bHe directly
abtained from the mode of the
jrouped gata

Find the Range of the foliowing Gata:

10, 23, 16, 28, 15, 20, 25

AR) 18

{(By 15

(C) 10

(D) 12
3041\C\2024-25

23. What Is the Coefficient of Variation

(Cv) for the following data.
Mean=40, Standard Deviation=10?
(A) 5%

(B) 10%

(C) 15%

(D) 25%

If the range of a data set is 25 and
the maximum value is 40, what is
the minimum value?

(A) 25

(8) 10

{C) 15

(D) 30

with the help of histogram, we can

determine-

{A] Mean

(B) Mode -

(C) Median

(D) Quartile

https://www.rmpssuonline.com
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26, square of Standard deviation 15 29. If mean<mode, then skewne

called- s

(A) Varlance L(A) Positively skewed

(B) Mean deviation
(B) Negatively skewed

AC) Quartile deviation

(C) Both (A) and (B)
(D) None of the above

bove
27. The mean age of a group of 80 (D) None of the abov

students is 15 and the coefficient 30. The distribution is symmetrnicat, if

of variation is 80%. What was the WA) Mode<Meidan<Mean

standard deviation of their age? ‘
«tB) Mode> Median>Mean

(A) 15
(C) Mode=Median=Mean
(B) 12
(D) Mode<Median>Mean
(C) 10
(D) 14 31. Pearson's coefficient of skewness for
2B. The standard deviation of 64 a distrnbution is 0.4 and 1ts coefficient

observati i . _ L )
rvations is 5. If sum of the of variation 15 30%. lts mode 15 88

observations i1s 160, what is the sum

fing the value of mean and median.
of squares of these observations?

(A} Mean=96 ; Median=100

(A) 1000
(B) 900 (B) Mean=100 ; Median=96
(C) 1100 (C) Mean=10 : Median=9.6
(DY 2000

(D) Mean=9.6 ; Megian=10

3041\C\2024.
12024.25 (7] PTO.
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é@ If skewness is zero, the distribution

33.

is Known as

(A) Positively skewed
(B) Negatively skewed

4C) Symmetrical

(D) Asymmetrical

The value of Bowley's coefficient of

skewness is lies between

AA) (-1, 1)
(8) (0, 1)
(C) (-3, 3)
(D) (0, 3)
5:,4 Karl Pearson's Coefficient of
skewness is
(A) 5, = 2% ¥ Medan)
AB) 5,=.3(?-::eq_i_an;
(C) s=>121Nede)
(D) S =27 Mode)
304 1\C\2024-25

[8]

35, The

36.

magnitude of correlation
coefficient between any two variables
lies between

{A} -1and +1

(B) -2and +2

(C) -3 and +3

(D) None of the above

If 2d? is zero, then Spearman’s Rank
Correlation Coefficient will be-

(A) -1

AB) 0

© 1

(D) None of these

37. 1In a correlation analysis, If r=0, then

we may say that there is o

between variables.
JA) No correlatian
(B) Linear correlation
(C) Perfect correlation

(D) None of these
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g. Which graph is used to find median:

(A) Histogram

(B) Piechart
(C) Pictogram

(D) Ogive

39. What is the mode of the following

40

data set: 11, 12, 13, 14, 14, 15, 15,
15, 16?
(A) 14

AB) 15
(C) 13
(D) 16

. Which of the following measures the
spread of data points in a dataset?
(A) Mean
(B) Median
(C) Mode

(D) Standard Deviation

3041\C\2024-25

41, My will be negative when
(A) Both x and y are increasing
AB) When x Increases and Y
decreases or vice-versa
(C) both (A) and (B)
(D) None of the above
42. The mode is best described as:
AA) The most frequent value in a
data set
(B) The middle value in a data set
when arranged in order
(C) The arithmetic average of all
the values
(D) The value that divides the data
set into two equal parts
43. If the minimum value in a set is 8 and
its range is 55, then the maximum
value of the set is-
(A) 32
uB) 63

(C) 47

(D) None of these

(9] RPT.O.
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44, The best statistical relative messure
used for comparing the vanability of
the two series is:

(A) Range

(B) Mean deviaton

(C) Standard deviation
D) Coefficient of variation

45. 1f mean is 44 and mode is 33, then

frequency distribution is
JA) Negatively skewed
‘B) Positiveiy skewed
(T} NO skewness
(D} None of these
46, If mean s 120 and mode s 130,
then frequency distmbuon S
(A] Negatively skewed
{B) Positively skewed
(C} NO skewness

(D) None of these
J041\C12024-25 [10)

47. It the Spearman rank COrrelatign

coefficlent between two variableg s
-0.7, what does it indicate?

{A) A perfect positive correlation
(8) A strong negative correlation
(C) A weak positive correlation

(D) No correlation

48. If the correlation coefficient between

X and Y is 0.6, which of the fallowing

statements is correct?

{A) There is a perfect negative
linear relationship

(8) There is no linear relationship

(C) There is a moderate positive
linear relationship

(D) There is a weak positive linédl

relationship
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49. A frequency Polygon is obtained by:

AA) plotting the midpoints of class

intervals and connecting them

with straight fineg

(B) Drawing bars for each class

interval

(C) Plotting the cumulative
frequencies

(D) Calculating the mean and

plotting it on a graph
50. The value of a variable with highest
frequency in a frequency distribution
is called:
(A) Mean
(B) Median
AC) Mode
AD) Partition Values _,
51. The idea of correlation was given
by .
AA) A.L. Bowley
(B) Karl Pearson

(C) Kelley

(D) None of the above
3041\C\2024.25

@ Classification of the students of 2

53.

54.

college in two categories 'Rural’ and
"Urban' is:

JA) Qualitative classification
#48) Quantitative classification

(C) Graphical classification

{D) None of these

If mean and mode of some data are
4 & 10 respectively its median will

be___ https://www.rmpssuonline.com
(A) 15

(B} 5.3

(C) 16

(D) 6

Who stated that statistics s hoth
science and art?

(A) Anderson

(B} Fisher
(C) Tippett

D) Bowley

@_ The Coefficient of varabon s a

(1]

percentage expression for-
(A) Standard deviation
8

(C)

Quartiie deviation

Mean ceviation

(D)} None of the above

PT.0.

https://www.rmpssuonline.com


https://www.rmpssuonline.com/

&

57.

&

30411C12024-25

Cumuiative frequency polygon s
also known as

AA)
(B)
(C)
(D)

The numbers of Science, Arts and

Ogive
Histogram
Pictogram

None of these

Commerce graduates working
in a company are 30, 70 and 50
respectively. If these figures are
represented by a pie chart, then
what is the angle corresponding to
Science graduates?

(A) 36

(B) 63

(C) 72

(D) 120

Arthmetic mean of a frequency
distribution is 50. If every frequency
IS doubled, the arithmetic mean Now
will be:

(A) 20

(B} SO

AC) 100

(D) 150

(12]

59.

60.

62.

The most stabie measure of centra
tendency IS

(A) Mean¥

(B) Median

(C) Mode

(D) Partition values

Geometric Mean of 5, 10 and x is 1
The value of x is:

(A) 10

(B) 20

(C) 30

(D) 40

For unequal values of a series, which
of the following has greatest value-
(A) Geometric Mean

(B) Harmonic Mean

[C) Anthmetic Mean

(D) None of the above
between

relation

The mean,

median and mode for a moderately
asymmetrical frequency distribution
IS:

A) Mean = 2 Median - 2 Mode
(B) Mode = 3 Median - 2 Mean

(C} Median = 3 Mean - 2 Mode

(D) None of the above
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63. The arithmetic mean of a set of

64.

65.

observations is 25 and their harmonic
mean is 16, then the geometric
mean will be:

(A) 5

(B) 10

(C) 20

(D) 22

The average marks of 20 students
are 75 but subsequently it was

discovered that the marks of two
student were mis-read as 53 and 45
instead of 83 and 65 respectively.
Find out the correct average marks.,
(A) 75

(B) 75.5

(C) 77

(D) 77.5

Coefficient of quartile deviation is:

(A) (Q,-Q,)/2

(B) (Q+Q,)/(Q,-Q,)

(C) (Q-Q)/(Q,+Q,)

(0) (Q,-Q,)/(Q,-Q,)

3041\C12024.25

66.

67.

68.

If median=20 and mode=28, then
mean is:
(A) 18
(B) 16
(€) 32
(D)} 36

Which of the following is true?

_kA) $.D0.>Q.D.>M.D.

(B) S.D.<Q.D.<M.D.

(C) S.D.<M.D.<Q.D.

(D) S.D.> M.D.>Q.D.

Which of the following is true?
(A) Median = Q, = D, = P,
(B) Mean=Q,=D, =P,

{C) Mode = Q, = D.

ﬁzpm

D) None of the above

@ The standard deviation of 10 items

[13]

1s 15. Each observation is multiplied
by 5. The standard deviation of the
resulting items is
(A) 15
AB) 75

(C) 15,3

(D) 3

P.1.0.
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@ The rank correlation coefficient was C'Q The objective of d‘agrammatic

given by-

(A)
(B)
AO)

(D}

Kari Pearson

Spearman

Fishel

None of these

71. The cocfficient of skewness method

in which the basis of measuring Is

deciles and percentiles is known as-

(A)
(B)

{C)

Gary's coefficient of skewness
Karl Pearson's coefficient of
skewness

Kelly's coefficient of skewness

L

Spearman’s coefficient of

skewness

72 Which of the following Is/are the

source(s) of secondary data:

(A)
(B)
(C)
AD)

3041\C\2024-25

Newspapers
Magazines
Production records of a firm

All of the above

representatmn of data i5:
(A) Presentation

(B) summarization

(C) Classification

AD) Analysis

@. A cumulative frequency table Shows:

75.

[14]

AA) Only the frequencies of each

class
x(B) The cumulative SuUM of
frequencies up to each class
(C) The class intervals
(D) None of these
Which graphical representation uses
bars to show the frequency of data
within each class interval?
(A) Histogram
AB) Pie chart
(C) Frequency polygon

(D) Line graph
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